
.بين الفرضيات الآتية حدد الصحيحة منها أو الخاطئة مع التبرير الكافيمن

( ࡻ , ଓ⃗, ଔ⃗) 

1ݖ= 3 + √݅3 

ଷ௡.ݖnالفرضية الأولى 

2z. 

الثانية الفرضية
గ

ଶ
z|z|= 1 +|i + z| 

3z 

الثالثة ଶݖz1:الفرضية +
ଵ

୸మ
 

4∆Mz|z + 2i|=|i-z| 

الرابعة ∆الفرضية 

5A2 – 5iB7 – 3i

الخامسة OABالفرضية
௓ఽ

୞ఽି ୞ా
 

( ࡻ , ଙ⃗, ଚ⃗,࢑ሬሬ⃗) 

A( -2 , 0 , 1 )B( 1 , 2 , -1 )2 , 2 )C( -2 ,

1– 

 

ABC 

2 

3 





4S 

S

S

S

–

 23022012

120 

الرياضيات مادة في إخـتبار

)نقاط05(التمرين الأول 

)نقاط06(الثانيالتمرين

الصفحة أقلب
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:الأولالجزء

]0 , + ∞[݃(ݔ) = −ଶݔ 2 + ݈݊ ݔ 

1 

2݃(ݔ) = 0α]1 , 1.4[ 

3࢞݃(ݔ) 

الثاني :الجزء

f]0 , + ∞[(݂ݔ) = ଶݔ + ( 2 − ݈݊ ଶ(ݔ 

1f 

2¢݂ f(ݔ)݃(ݔ) 

3(݂ߙ ) = ( 1 + ଶߙ ଶfߙ( 

الثالث :الجزء

( ࡻ , ଓ⃗, ଔ⃗) 

 ln

A0 , 2.

M࢞]0 , + ∞[

 

1AMܯܣ = ඥ (ݔ݂)

2h]0 , + ∞[ℎ(ݔ) = ܯܣ 

hf]0 , + ∞[

AM

P 

ܯܣ = 1√ߙ + ଶߙ

APP 

)نقاط09(الثالثالتمرين

العـيدحمزة:الأساتذبالتوفيق


